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STARTING TORQUE 408 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
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TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION [NONE |LIGHT [MEDIUM |HEAVY
MAX. PRESS| 75 60 35 15

MAX. SPEED| 900 | 675 450 225

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS {100 1000 {2500 | 5000 |10,000 {50,000 | 100,000 [ 150,000 [ 200,000
TQ |52 |152 | 232 | 320 | 445 | 930 1280 1545 1775
RPM|900| 900 | 900 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .6 INCH
SIZE FINE MEDIUM COARSE
% 01" T0 .04" | .04" TO .08"” |.08" & LARGER
10 113 141 210
30 339 424 629
50 565 706 1049
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
oF
B 70 {100 [125 (150 {175 | 200|230 250| 275300 | 350
STD  [1.0[11[13[1.6]18
SGL U/S 11 [1.3]16[1.8[2.0
DBL U/S 1.0[11 [1.3[1.6 {1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY

THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 684 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
100 8 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
300 2.2 Hp < (TQ)(RPM)
500 37 * 753025
700 6.9
900 10.5

TORQUE (IN/LB)
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—1.27
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TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE |LIGHT |MEDIUM |HEAVY
MAX. PRESS | 150 120 70 30

MAX. SPEED| 900 | 675 450 225

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS |100 ]1000 | 2500 {5000 |10,000 50,000 | 100,000 [ 150,000 200,000
TQ |104 [304 | 464 | 640 | 890 | 1860 2560 3090 3550
RPM|900 | 900 | 900 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .6 INCH
SIZE FINE MEDIUM COARSE
% .01" TO .04" | .04" TO .08"” |.08" & LARGER
10 149 186 277
30 448 559 830
50 746 931 1384
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
OF -
SOTOR 70 (100 |125]150 [175 | 200/ 230|250( 275|300 | 350
STD  |1.0[1a [13]16][1.8
SGL U/S 1.1 {1.3]16]1.8]2.0
DBL U/S 1.0[11 ]1.3[1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWwO.

72X12



3 STAGE 12 TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
120 %00  52.22 ABRASION [NONE [LIGHT [MEDIUM [HEAVY
HHHH HHTH HH 1 § MAX. PRESS | 225 | 180 105 L5
HHH ! i ] MAX. SPEED| 900 | 675 450 225
GO o / T TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
100 H PR / 1200 41.90 CPS ]100 [1000 [ 2500 [5000 10,000 [50,000 [ 100,000 [ 150,000 [ 200,000
EEaiiEEE HHRHHTTTPORL | HHH T TQ [156 [456 | 696 | 960 | 1335 | 2790 | 3840 | 4635 | 5325
. i RPM|[900{ 900 [ 900 [ 600 | 320 | 80 40 30 25
50 Tl PeRey ' 8 § EaEREE 1000 J1sg TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
5& '_‘ L : " NOTE: MAXIMUM PARTICLE SIZE .6 INCH
- N T = s SIZE FINE MEDIUM COARSE
nan . : : H > e | % 01" 70 .04” | .04" TO .08" |.08" & LARGER
= SNNENEE ] ' = 10 175 219 325
] 800 41.27 8
5t 00 RE/T " e 30 526 657 976
T S Eaans e S o 50 877 1095 1627
TN e TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
3 & 600 4.952 °
40 pmeas o F {70 [100 [125 |150 |175 | 200|230 250 275|300 | 350
00 REN HHHHH ROTOR
SImamac coaRan e stD 101131618
yd b~ TS SGL U/S 1111316 [1.8]2.0
20 W : 400  -.635 DBL U/S 1.0[11[1.3]1.6 [1.8
OO Ey 1) DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
=~silanunig FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
= T TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
0 200  d.317 ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
0 50 100 150 200 250 300 350 400 AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
DIFFERENTIAL PRESSURE (PSIG) ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
472 THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.
RPM |NPSHR (FT) gg?EREENNGERTBFQIKETRUCTICI)NéLB 2) FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
Sue mae Sf WATE TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
100 .8 CURV ED ON 70°F WATER THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
300 2.2 =70 ey o ==50 DUROMETER CORRECTED STARTING TORQUE.
=0 T HP = “=5e— COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
: TORQUE WILL BE THE GREATER OF THE TWO.
700 6.9
900 10.5 73X12
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 1272 IN/LB
RPM | NPSHR (FT) SEE GENERAL INSTRUCTIONS
100 8 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER
300 2.2 hp - (TQ) (RPM)
500 3.7 - 63025
700 6.9
900 10.5

TORQUE (IN/LB)

1
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/93

HP /100 RPM
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TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE [LIGHT [MEDIUM |HEAVY
MAX. PRESS | 300 | 240 140 60
MAX. SPEED| 900 | 675 450 225

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS |100 {1000 | 2500 | 5000 |10,000 {50,000 | 100,000 | 150,000 | 200,000
TQ 208|608 | 928 |1280 | 1780 | 3720 5120 6180 7100
RPM|900 | 900 [ 900 [ 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .6 INCH
SIZE FINE MEDIUM COARSE
% .01 TO .04" | .04" TO .08” |.08" & LARGER
10 197 246 365
30 591 737 1096
50 985 1229 1826
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
oF
- 70 [100 [125 [150 175 | 200{230]250( 275|300 | 350
STD  [1.0[11[13]1.6]1.8
SGL U/IS 11113116 [1.8]2.0
DBL U/S 1.0[11[1.3]1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.
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VE BASED ON 70°F WATER
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TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION [NONE |LIGHT |MEDIUM [HEAVY
MAX. PRESS | 450 | 360 210 S0
MAX. SPEED| 600 | 500 350 200

CPS [100 {1000 | 2500 | 5000 10,000 {50,000 | 100,000 | 150,000 | 200,000
TQ [315| 882 [1387 [ 1954 | 2710 | 5672 7941 9454 10,903
RPM|600| 600 | 600 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .7 INCH
SIZE FINE MEDIUM COARSE
% .01" 70 .04” | .04" TO .08" |.08" & LARGER
10 189 227 347
30 643 744 1040
50 977 1172 1765
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
o
F 70 [100 {125 (150 |175 | 200{230250( 275|300 | 350
ROTOR
STD 10111113 ]1.6]1.8
SGL U/S 1111.3[16]1.8(2.0
DBL U/S 1.011111.3]1.6 1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWwO.
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TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED





